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1) If 115 – 77 = 38, choose the correct fact that verifies the result. 

(a) 38 + 77 = 115 

(b) 115 – 77 = 38 

(c) 115 + 77 = 192 

2) Find out the missing number.  

906  -  ____ = 598 

     (a)300 (b) 408 (c) 308 (d) 38 

 

 

3) Solve. 

94 – 53 – 9 

      (a)27 (b) 32 (c) 29 (d) 22 

 

        4) Find the difference. 

a)  8 7 3          b) 3 2 0 

            - 7  9 4                    -  7 8  

             -------                    ------- 

   -------                    ------- 

    5) Fill the missing digit. 

   

 

     6) Choose the correct working for 406 - 68. 

(a)  4 0 6          (b) 4 0 6 

     -   6 8                 -    6 8 

      -------                    ------- 

       3 4 6                     4 4 2 

      -------                     -------                         
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     7) Form a valid subtraction fact by selecting the remaining number 

from the options given below. 

  73 - ___  =  45 

     (a)27 (b) 49 (c) 28 (d) 38 

 
 

    8) Fill in the blank: 

   167 - 88 = _____ 

 

       9) In a supermarket checkout counter, there were totally 35 people    

standing in a queue. Out of the people standing in the queue, 21 were 

men and the rest were women. How many women were there in the 

queue?  

 

 

 

  

     10) A book fair was held in a city. 432 people attended the book fair 

on Saturday and 726 people attended the book fair on Sunday. How 

many more people attended the book fair on Sunday than on Saturday?  
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1. (a) & (b) 

2. (a) 

3. (b) 

4. (a) 79 

(b) 242 

5. 6 

6. (a) 

7. (c) 

8. 79 

9. 14 

10. 294 
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1. The tens column has a 0 in it so there is 

nothing to borrow, so we have to move to 

the next column to the left and so on. 

2. We use regrouping in subtraction when 

the minuend is smaller than the 

subtrahend. 

3. We can't regroup from zero but 

we can make a "0" into a "10" by 

regrouping it first, then carry on 

normally.  
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